		Slope Maintenance for Erosion Control At Various Sites on Oahu					***			
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 N	liles					;	STATE OF HAV	
	ISLAND: Oa	ahu DISTRICT: Ewa and Wahiawa	** NOTE: Quantities		57 BUIL	DERS, LTD.		ONTRACTING, O., LTD.	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	shown in		•		CO	., ∟1 <i>D</i> .	HIGHWAYS DIV	
	BIDS OPEN	ED: June 1, 2006	this column are for in-							
	COMPLETIO	ON TIME: One Hundred Sixty (160) Working Days	house use only.				. 4	· · · · · · · · · · · · · · · · · · ·		
	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #1									
	201.0200	Clearing and Grubbing	14,700 SY	LS	LS	\$40,745.00	LS	\$100,000.00	LS	\$10,000.00
	203.0230	Borrow Excavated Material	370	CY	\$55.00	\$20,350.00	\$120.00	\$44,400.00	\$100.00	\$37,000.00
X	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$33,400.00	LS ···	\$40,000.00	LS	\$10,000.00
	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
χ	616.1000	Temporary Irrigation System	LS	LS	LS	\$136,593.00	LS	\$50,000.00	LS	\$126,000.00
	617.0200	Planting Soil	1,225	CY	\$117.00	\$143,325.00	\$130.00	\$159,250.00	\$100.00	\$122,500.00
	641.0100	Hydro-mulch Seeding	14,700	SY	\$1.72	\$25,284.00	\$7.50	\$110,250.00	\$2.00	\$29,400.00
X	645.1000	Traffic Control	LS	LS	LS	\$22,060.00	LS	\$30,000.00	LS	\$44,000.00
×.	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
	659.3000	Erosion Control Matting	14,700	SY	\$9.50	\$139,650.00	\$8.00	\$117,600.00	\$8.00	\$117,600.00
X	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$36,916.00	LS	\$65,000.00	LS	\$49,650.00
	77 77 77 77 77 77 77 77 77 77 77 77 77	SUM OF ALL ITEMS (Site #1)				\$617,323.00	a. 19.	\$735,500.00		\$565,150.00

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	liles						STATE OF HAV	VAII
	ISLAND: O	ahu DISTRICT: Ewa and Wahiawa	** NOTE:		57 BUIL	DERS, LTD.		ONTRACTING, O., LTD.	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	Quantities shown in)., LTD.	HIGHWAYS DIV	
	BIDS OPEN	ED: June 1, 2006	this column are for in-							
		ON TIME: One Hundred Sixty (160) Working Days	house use only.		·					
	ITEM NO.	· ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #2									
	201.0200	Clearing and Grubbing	8,300 SY	LS	LS	\$19,600.00	LS	\$70,000.00	LS	\$10,000.00
	203.0230	Borrow Excavated Material	210	CY	\$56.00	\$11,760.00	\$130.00	\$27,300.00	\$100.00	\$21,000.00
/	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$16,940.00	LS	\$20,000.00	LS	\$7,000.00
X.	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
×	616.1000	Temporary Irrigation System	LS	LS	LS	\$44,833.00	LS	\$40,000.00	LS	\$126,000.00
	617.0200	Planting Soil	690	CY	\$108.00	\$74,520.00	\$120.00	\$82,800.00	\$100.00	\$69,000.00
	641.0100	Hydro-mulch Seeding	8,300	SY	\$1.72	\$14,276.00	\$9.50	\$78,850.00	\$2.00	\$16,600.00
<	645.1000	Traffic Control	LS	LS	LS	\$16,438.00	LS	\$15,500.00	LS	\$37,000.00
y	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
	659.3000	Erosion Control Matting	8,300	SY	\$6.50	\$53,950.00	\$8.00	\$66,400.00	\$8.00	\$66,400.00
	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$18,086.00	LS	* \$40,085.00	LS	\$35,300.00
		SUM OF ALL ITEMS (Site #2)				\$289,403.00		* \$459,935.00		\$407,300.00

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	liles						STATE OF HAV	MAII
	ISLAND: Oa	ahu DISTRICT: Ewa and Wahiawa	** NOTE:		57 BUIL	DERS, LTD.		ONTRACTING, D., LTD.	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	Quantities shown in)., LID.	HIGHWAYS DI	
	BIDS OPEN	ED: June 1, 2006	this column are for in-							
	COMPLETION	ON TIME: One Hundred Sixty (160) Working Days	house use only.					·		
	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #3	TTEW	307111111	01111 0020				49.1000		
	201.0200	Clearing and Grubbing	5,500 SY	LS	LS	\$10,833.00	LS	\$50,000.00	LS	\$10,000.00
	203.0230	Borrow Excavated Material	140	CY	\$50.00	\$7,000.00	\$140.00	\$19,600.00	\$100.00	\$14,000.00
X	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$12,720.00	LS	\$15,000.00	LS	\$6,000.00
×	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
X	616.1000	Temporary Irrigation System	LS	LS	LS	\$29,888.00	LS	\$35,000.00	LS	\$126,000.00
	617.0200	Planting Soil	460	CY	\$108.00	\$49,680.00	\$120.00	\$55,200.00	\$100.00	\$46,000.00
	641.0100	Hydro-mulch Seeding	5,500	SY	\$1.72	\$9,460.00	\$11.00	\$60,500.00	\$2.00	\$11,000.00
X	645.1000	Traffic Control	LS	LS	LS	\$14,833.00	LS	\$12,000.00	LS	\$45,000.00
X	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
	659.3000	Erosion Control Matting	5,500	SY	\$6.50	\$35,750.00	\$8.00	\$44,000.00	\$8.00	\$44,000.00
λ	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$10,165.00	LS	* \$29,130.00	LS	\$30,200.00
		SUM OF ALL ITEMS (Site #3)				\$199,329.00		* \$339,430.00		\$351,200.00
	·									

P									e e	
'	ROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	iles			·			STATE OF HAV	VAII
	SLAND: Oa	ahu DISTRICT: Ewa and Wahiawa	** NOTE: Quantities		57 BUILI	DERS, LTD.		ONTRACTING, D., LTD.	DEPARTMENT TRANSPORTAT	
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	shown in this column					,	HIGHWAYS DIV	/ISION
E	BIDS OPEN	ED: June 1, 2006	are for in- house use					·		
C	COMPLETIC	ON TIME: One Hundred Sixty (160) Working Days	only.							
	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #4									
2	201.0200	Clearing and Grubbing	5,200 SY	LS	LS	\$14,333.00	LS	\$50,000.00	LS	\$10,000.00
2	203.0230	Borrow Excavated Material	130	CY	\$56.00	\$7,280.00	\$140.00	\$18,200.00	\$100.00	\$13,000.00
× 2	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$15,028.00	LS	\$16,000.00	LS	\$6,500.00
< 2	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
$_{ imes}$ \mid 6	616.1000	Temporary Irrigation System	LS	LS	LS	\$29,888.00	LS	\$30,000.00	LS	\$126,000.00
	617.0200	Planting Soil	440	CY	\$117.00	\$51,480.00	\$125.00	\$55,000.00	\$100.00	\$44,000.00
6	641.0100	Hydro-mulch Seeding	5,200	SY	\$1.72	\$8,944.00	\$11.00	\$57,200.00	\$2.00	\$10,400.00
. 6	645.1000	Traffic Control	LS	LS	LS	\$14,833.00	LS	\$6,000.00	LS	\$45,000.00
\	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
6	659.3000	Erosion Control Matting	5,200	SY	\$9.50	\$49,400.00	\$8.00	\$41,600.00	\$8.00	\$41,600.00
> 6	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$9,716.00	LS	* \$27,400.00	LS	\$29,650.00
		SUM OF ALL ITEMS (Site #4)			111111111111111111111111111111111111111	\$219,902.00		* \$320,400.00		\$345,150.00

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	liles						STATE OF HAW	/All
	ISLAND: Oa	ahu DISTRICT: Ewa and Wahiawa	** NOTE: Quantities		57 BUILI	DERS, LTD.		ONTRACTING, O., LTD.	DEPARTMENT TRANSPORTAT	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	shown in this column						HIGHWAYS DIV	
	BIDS OPEN	ED: June 1, 2006	are for in-							
	COMPLETIC	ON TIME: One Hundred Sixty (160) Working Days	house use only.							·
ŀ	ITEM NO.	ITEM	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #5						, , , , , , , , , , , , , , , , , , ,			, W. W. W
	203.0300	Excess Soil Removal	108	CY	\$378.00	\$40,824.00	\$320.00	\$34,560.00	\$160.00	\$17,280.00
\times	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$18,166.00	LS	\$11,000.00	LS	\$7,000.00
X	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
	645.1000	Traffic Control	LS	LS	LS	\$16,888.00	LS	\$3,000.00	LS	\$20,000.00
, E	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	661.1000	Hydro-mulch Mixture	10,200	SY	\$2.40	\$24,480.00	\$2.50	\$25,500.00	\$4.00	\$40,800.00
X	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$6,130.00	LS	* \$7,406.00	LS	\$8,508.00
		SUM OF ALL ITEMS (Site #5)				\$120,488.00		* \$95,466.00		\$107,588.00

	PROJECT N ISLAND: O DATE ADVE BIDS OPEN	Slope Maintenance for Erosion Control At Various Sites on Oahu O.: HWY-O-10-06M Net Length of Project: 2.77 M ahu DISTRICT: Ewa and Wahiawa ERTISED: Internet Posting - May 10, 2006 IED: June 1, 2006 ON TIME: One Hundred Sixty (160) Working Days	** NOTE: Quantities shown in this column are for in- house use only.		57 BUILI	DERS, LTD.		ONTRACTING, O., LTD.	STATE OF HAV DEPARTMENT TRANSPORTA HIGHWAYS DIV	OF TION
	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #6									
	202.0411	Removal of Trees	2 Each	LS	LS	\$5,978.00	LS	\$7,000.00	LS	\$4,000.00
	202.0412	Removal of Additional Trees	2	Each	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$2,000.00	\$4,000.00
	203.0300	Excess Soil Removal	108	CY	\$392.00	\$42,336.00	\$300.00	\$32,400.00	\$160.00	\$17,280.00
garane.	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$12,865.00	LS	\$12,000.00	LS	\$6,500.00
(**	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
.	645.1000	Traffic Control	LS	LS	LS	\$16,888.00	LS	\$3,000.00	LS	\$20,000.00
₹	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	660.1000	Hydraulic Blanket Mixture	5,100	SY	\$2.62	\$13,362.00	\$4.00	\$20,400.00	\$2.55	\$13,005.00
	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$5,233.00	LS	* \$8,180.00	LS	\$6,478.50
		SUM OF ALL ITEMS (Site #6)				\$116,662.00		* \$103,980.00		\$85,263.50

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	iles	į					STATE OF HAV	VAII
	ISLAND: Oa	ahu DISTRICT: Ewa and Wahiawa	** NOTE: Quantities		57 BUIL	DERS, LTD.		ONTRACTING,)., LTD.	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	shown in					,, E1D.	HIGHWAYS DIV	
	BIDS OPEN	ED: June 1, 2006	this column are for in-							
	COMPLETIO	ON TIME: One Hundred Sixty (160) Working Days	house use only.							
-	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #7			***						
	202.0411	Removal of Trees	1 Each	LS	LS	\$2,988.00	LS	\$1,000.00	LS	\$2,000.00
	202.0412	Removal of Additional Trees	2	Each	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
	203.0300	Excess Soil Removal	108	CY	\$168.00	\$18,144.00	\$350.00	\$37,800.00	\$160.00	\$17,280.00
/	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$12,866.00	LS	\$10,000.00	LS	\$6,000.00
λ'	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
\	645.1000	Traffic Control	LS	LS	LS	\$17,037.00	LS	\$3,000.00	LS	\$20,000.00
	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	661.1000	Hydro-mulch Mixture	2,800	SY	\$2.40	\$6,720.00	\$5.50	\$15,400.00	\$4.00	\$11,200.00
X	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$4,486.00	LS	* \$6,920.00	LS	\$6,048.00
		SUM OF ALL ITEMS (Site #7)				\$82,241.00	·	* \$90,120.00		\$80,528.00
					. 1		*			
							/			

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	liles						STATE OF HAV	VAII
	ISLAND: O	ahu DISTRICT: Ewa and Wahiawa	** NOTE: Quantities		57 BUILI	DERS, LTD.		NTRACTING, ., LTD.	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	shown in this column						HIGHWAYS DIV	· ·
	BIDS OPEN	ED: June 1, 2006	are for in-							
	COMPLETION	ON TIME: One Hundred Sixty (160) Working Days	house use only.	·						
•	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #8									
	202.0411	Removal of Trees	6 Each	LS	LS	\$13,450.00	LS	\$4,000.00	LS	\$12,000.00
	202.0412	Removal of Additional Trees	2	Each	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
	203.0300	Excess Soil Removal	108	CY	\$145.00	\$15,660.00	\$250.00	\$27,000.00	\$160.00	\$17,280.00
);	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$14,430.00	LS	\$14,000.00	LS	\$8,000.00
>-	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
>	645.1000	Traffic Control	LS	LS	LS	\$17,933.00	LS	\$4,500.00	LS	\$20,000.00
×	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	661.1000	Hydro-mulch Mixture	3,700	SY	\$2.40	\$8,880.00	\$4.00	\$14,800.00	\$4.00	\$14,800.00
	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$5,233.00	LS	* \$6,630.00	LS	\$7,608.00
		SUM OF ALL ITEMS (Site #8)				\$95,586.00		* \$86,930.00		\$97,688.00
				To constitute the second secon						
					·					
			اجسيس					.,		

	PROJECT N ISLAND: OF DATE ADVE BIDS OPEN	Slope Maintenance for Erosion Control At Various Sites on Oahu O.: HWY-O-10-06M Net Length of Project: 2.77 Mahu DISTRICT: Ewa and Wahiawa ERTISED: Internet Posting - May 10, 2006 ED: June 1, 2006 ON TIME: One Hundred Sixty (160) Working Days	** NOTE: Quantities shown in this column are for in- house use only.		57 BUIL	DERS, LTD.		ONTRACTING, D., LTD.	STATE OF HAV DEPARTMENT TRANSPORTA HIGHWAYS DI	OF TION
	ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Site #9									
	202.0412	Removal of Additional Trees	2	Each	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
	203.0300	Excess Soil Removal	108	CY	\$135.00	\$14,580.00	\$130.00	\$14,040.00	\$160.00	\$17,280.00
jet	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$8,954.00	LS	\$14,000.00	LS	\$8,000.00
X.	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
X	645.1000	Traffic Control	LS	LS	LS	\$16,438.00	LS	\$2,800.00	LS	\$20,000.00
<i>y.</i>	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	660.1000	Hydraulic Blanket Mixture	4100	SY	\$2.60	\$10,660.00	\$6.50	\$26,650.00	\$2.55	\$10,455.00
X	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$3,738.00	LS	* \$5,949.00	LS	\$5,973.50
		SUM OF ALL ITEMS (Site #9)				\$74,370.00		* \$79,439.00		\$79,708.50

		Slope Maintenance for Erosion Control At Various Sites on Oahu								
	PROJECT N	O.: HWY-O-10-06M Net Length of Project: 2.77 M	liles						STATE OF HAV	WΔH
	ISLAND: O	ahu DISTRICT: Ewa and Wahiawa	** NOTE:		57 BUIL	DERS, LTD.		ONTRACTING,	DEPARTMENT TRANSPORTA	OF
	DATE ADVE	ERTISED: Internet Posting - May 10, 2006	Quantities shown in			ì)., LTD.	HIGHWAYS DIV	
	BIDS OPEN	ED: June 1, 2006	this column are for in-							
	COMPLETION	ON TIME: One Hundred Sixty (160) Working Days	house use only.							
-	ITEM NO.	ITEM	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
f	Site #10					, ,,,,,			- AMILIANIA	0. VIII - T VIII - VIII
	202.0411	Removal of Trees	2 Each	LS	LS	\$5,978.00	LS	\$1,000.00	LS	\$4,000.00
	202.0412	Removal of Additional Trees	2	Each	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
	203.0300	Excess Soil Removal	108	CY	\$502.00	\$54,216.00	\$900.00	\$97,200.00	\$160.00	\$17,280.00
	209.1000	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$8,348.00	LS	\$10,000.00	LS	\$6,000.00
	209.5000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$4,000.00	FA	\$4,000.00	FA	\$4,000.00
	645.1000	Traffic Control	LS	LS	LS	\$17,040.00	LS	\$14,000.00	LS	\$20,000.00
	645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	660.1000	Hydraulic Blanket Mixture	2,700	SY	\$2.40	\$6,480.00	\$7.00	\$18,900.00	\$2.55	\$6,885.00
-	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	LS	LS	LS	\$3,215.00	LS	* \$14,310.00	LS	\$5,816.50
		SUM OF ALL ITEMS (Site #10)				\$115,277.00	į	* \$171,410.00		\$77,981.50
						:				
									:	
							·			

Sheet No. 10 of 11 Sheets

PROJECT N ISLAND: O DATE ADVE BIDS OPEN	Slope Maintenance for Erosion Control At Various Sites on Oahu No.: HWY-O-10-06M Net Length of Project: 2.77 Mahu DISTRICT: Ewa and Wahiawa ERTISED: Internet Posting - May 10, 2006 NED: June 1, 2006 ON TIME: One Hundred Sixty (160) Working Days	** NOTE: Quantities shown in this column are for in- house use only.		57 BUIL	DERS, LTD.		ONTRACTING, O., LTD.	STATE OF HAV DEPARTMENT TRANSPORTA HIGHWAYS DIV	OF TION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SUM OF ALL ITEMS (Sites #1 Through #10)				\$1,930,581.00		* \$2,482,610.00		\$2,197,557.50
110-111-1	Hawaii Products Preference				\$0.00		\$0.00	·	\$0.00
	AMOUNT FOR COMPARISON OF BIDS				\$1,930,581.00		* \$2,482,610.00		\$2,197,557.50
			,				* corrected # amount		
		- desirable of the control of the co							
									·
	Project Manager: Steven Ege Date: 7/28/06								